Section—-C 2x7=14

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. Discuss the entropy changes for maxing ideal

gasses.
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11. Discuss various applications of conductometric

measurements.
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12. Explain Bi-Cd system.

Bi-Cd T &1 =& &t |
13. Write a note on Ostwald’s dilution law.
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Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given

instructions.
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Section-A 7x1=7

(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1) Explain state function.
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(i) What is the unit of Entropy ?
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(ii1) What is dry ice ?
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(iv) Define entropy of system.
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(v) What is phase rule ?
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(vi) What is triple point ?
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(vii) Describe the concentration cells.
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Section-B 4x3'~=14
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 32 marks.
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. Write the definition of system and give its types.
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. Derive a relation between Cp and Cy,.
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. Derive expression AG® = —RT In Kp.
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. Derive Nernst Equation.
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. Explain ideal and non-ideal solutions.
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. What is Raoult’s law ?
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. Explain Hydrogen overvoltage.
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. Why Cp is greater than Cy; ?
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